FD-2063

"M.Com. (Previous) Examination, 2022

Compulsory
Paper - 111

Accounting for Managerial Decisions

Time : Three Hours] [Maximum Marks : 100
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Note : Answer all questions. All questions carry equal
marks.
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Define Management Accounting and discuss
its objectives. Why Management Accounting
is called an essential tool for management ?
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What is Responsibility Accounting ? Explain
its characteristics. Discuss its advantages and
limitations.
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The expenses budget for production of 10000
units in a factory are furnished below :

Per unit

(%)
Material 70
Labour 25
Variable overheads 20
Fixed overheads ¥ 1,00,000 10
Variable expenses 5
Selling expenses (10% fixed) 13
Distribution expenses (20% fixed) 7
Administrative expenses ¥ 50,000 5

Total Cost 155

Prepare a budget for the production of
(a) 8000 units and (b) 6000 units. Assume
that administrative expenses are rigid for all
levels of production.
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Define standard costing. Discuss material
variance and labour variance with reference
to fit.
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2012 | 25,000 [5,000 (%)
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Following records are available from the
accounting records of Praveen Ltd. :
Year Sales Profit/Loss
® ®
2012 25,000 | 5,000 (Loss)
2013 75,000 |5,000 (Profit)
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Find out:

(a) P/V Ratio

(b) Fixed cost

(¢) Marginal cost for 2012 and 2013
(d) BEP

(e) Margin of safety for the profit of
¥ 10,000
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What is the role of marginal costing in the

decision of ‘Make or Buy’ ? Discuss the other
factors also which effect this decision.
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What is Cash Flow Statement ? How does it
differ from Fund Flow Statement ?
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T TE T (31-03-12[31-03-13| Feafear| 31-03-12[31-03-13
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77,700 |1,18,000 77,700 |1,18,000

Frfeie goit H ofad™ o STg=t dun e
& Gid Td YIS fIeRm qAaR SIS

The Balance Sheet of a Limited Co. as at
31st March, 2012 and 31st March, 2013 were

as follows :

Equity and

Liabilities 31-03-12]31-03-13| Assets [31-03-12|31-03-13
Share Capital| 45,000 | 65,000 |Fixed

General Assets 46,700 | 83,000
Reserve 5,000 7,500 [ Stock 11,000 { 13,000
P& LAl 10,000 | 15,000 |Debtors | 18,000 [ 19,500
Less : Cash 2,000 2,500
Preliminary

Expenses (1,000) (500)

Debenture 10,000 | 20,000
Creditors 8,700 11,000

77,700 [1,18,000 77,700 [1,18,000
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Prepare a schedule of changes in working
capital and statement of sources and
application of funds.
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What is meant by ‘Managerial Reporting’ ?
Discuss its process, nature and scope.
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What is meant by Quality Costing ? Discuss
the components of quality costing.
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